1 H=17005%515t &S



ENABEEDEHE

1. A
DR
HAKEES ¥ =23 kN/m®
QYEEt
BRNABEES =19 kN/m
RERERA »=30°
B IR A §=2/3¢=20° (x&a>sy—F)
QHME q = 10 kN/m’
@t F
AT IUVEIZK B,
BB EREZRI ©=0.6
OMBOHFEIZFNE 0,=300kN/m*  (EB¥)
2. RIXEE
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a=10kN/m?
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850 400
1250
Xa | B = | K58V (m°) X Y VX VY
@ |0.400x1.700 0. 680 0. 200 0. 850 0.136 0.578
@ [1/2x0.850%1.700[ 0.723 0. 683 0.567 0. 494 0. 410
£t 1. 403 0.630 0.988




BAEE W=1.403x23=  32. 269kN
BB X=0. 630/1.403= 0. 449m
Y=0.988/1.403= 0. 704m
3. =
ITRYA THES HEE =) it TEH
63 27.713 17.160 44. 873 25. 141
64 27.116 16. 790 43.906 25. 154
64.5 26. 825 16. 610 43. 435 25.158
65 26.534 16. 430 42.964 25.154
66 25.953 16. 070 42.023 25.126
TEANBKRELZDIE a=64.5° D& E P=25 158kNTH B,
_ Wsin (a-9¢)
~ cos(a-p-6-j )
_ 35.130xsin (64.5° -30° )
~ cos (64.5° —-30° -20° —26.565° )
= 25. 158kN
KESH Ph=P - cos (8+ j)=25158xcos (20+26.565)° = 17.297kN
$AESDAH Pv=P - sin (§+ j)=25.158x%xsin (20+26.565)° = 18.269kN
X=1.250-0. 567 x 0. 5=0. 967m
Y=H/3=1.700/3= 0.567m
4 ERHDEE
DE—4 v bD&F
5 g | REA | KEA 7—LE _ [E&E—A>F 0N
N (kN) H (kN) X (m) Y (m) M=N - X| My=H -Y
H = 32. 269 0. 449 14. 489
+ =F 18. 269 17.297 0.967 0.567 | 17.666 9. 807
B 50.538 | 17.297 32.155 9. 807
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d=
2N
= (32.155-9. 807) /50. 538
= 0.442m
e=B/2 -d

= 1.250/2 - 0.442=0.183m

| e | =0.183m=B/6=1.250/6=0. 208m
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OK.
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SH
= 50.538x0.6/17. 297
=1.75 > F,=1.5 OK.
@R hEDHE
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_ 50.538 6x0.183
=m0 = 71250
= 75.928kN/m* , 4. 528kN/m’ <q,=300kN/m*  OK.
5. AR —%
f =% TEMDEE AL S i &
EIES | e | =0.183m=<B/6=1.250/6=0. 208m OK.
2N u
BE ° SH
= 50.538x0.6/17.297 =1.75 >1.5 OK.
SN 6 e
q= (1% )
2R 7 B B
= 75.928kN/m* , 4. 528KkN/m’ <q,=300kN/m*>  OK.




